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1. If 𝐴 = #2 3 −5
1 2 −1) and 𝐵 = # 0 5 1

−2 7 3), find 𝐴 + 𝐵 and 𝐴 − 𝐵. 

2. If 𝐴 = #2 −1
3 1 ) and 𝐵 = #1 4

7 2), find 3𝐴 − 2𝐵. 

3. If 𝐴 = 𝑑𝑖𝑎𝑔(1 −1 2) and 𝐵 = 𝑑𝑖𝑎𝑔(2 3 −1), find 𝐴 + 𝐵, 3𝐴 + 4𝐵. 

4. Simplify: cos 𝜃 # cos 𝜃 sin 𝜃
− sin 𝜃 cos 𝜃) + sin 𝜃 #

sin 𝜃 − cos 𝜃
cos 𝜃 sin 𝜃 ). 

5. Find 𝑋 and 𝑌, if 𝑋 + 𝑌 = #7 0
2 5) and 𝑋 − 𝑌 = #3 0

0 3). 

6. Find 𝑥, 𝑦, 𝑧, 𝑡 if 2 #
𝑥 𝑧
𝑦 𝑡) + 3 #

1 −1
0 2 ) = 3 #3 5

4 6). 

7. Find non – zero values of 𝑥 saAsfying the matrix equaAon: 𝑥 #2𝑥 2
3 𝑥) + 2 #

8 5𝑥
4 4𝑥) =

2 #𝑥
! + 8 24
10 6𝑥

). 

8. Find a matrix 𝑋 such that 2𝐴 + 𝐵 + 𝑋 = 0, where 𝐴 = #−1 2
3 4) 	𝑎𝑛𝑑	𝐵 = #3 −2

1 5 ). 

9. Find a matrix 𝐴 such that 2𝐴 − 3𝐵 + 5𝐶 = 𝑂, where 𝐵 = #−2 2 0
3 1 4) and 𝐶 =

#2 0 −2
7 1 6 ). 

10. Find 𝑥, 𝑦 saAsfying the matrix equaAon: 𝑥 #21) + 𝑦 #
3
5) + #

−8
−11) = 0. 

11. If 𝐴 = H
8 0
4 −2
3 6

I and 𝐵 = H
2 −2
4 2
−5 1

I, then find the matrix 𝑋 of order 3 × 2 such that 

2𝐴 + 3𝑋 = 5𝐵. 
12. The monthly incomes of Aryan and Babban are in the raAo 3: 4 and their monthly 

expenditures are in the raAo 5: 7. If each saves Rs.15000 per month, find their 
monthly incomes using matrix method. This problem reflects which value? 

 

𝐃𝐏𝐏 − 𝟎𝟐 

 𝐓𝐨𝐩𝐢𝐜𝐬: 
• Addi1on and Proper1es of Addi1on. 


